
 

   

 DELHI PUBLIC SCHOOL  

                SAIL TOWNSHIP, RANCHI 
                         HALF YEARLY EXAMINATION (2021-2022)                             

Class:- VII                                                                                              Subject:- English  
          Time:- 3 Hrs.                                                                                             F. M:- 80 

GENERAL INSTRUCTIONS:- 

1. The question paper is divided into two parts: 

Section- A and Section- B 

2. All questions have to be attempted. 

3. You may attempt any section at a time. 

4. All the questions of that particular section must be attempted in correct order  

SECTION A (40 Marks) 

 
Q.1:  Read the passage carefully and answer the following questions:   (1x10=10) 
 

Have you ever failed at something so miserably that the thought of attempting to do it again 

was the last thing on your mind? 

If your answer is yes, then you should understand that you are not a robot. Unlike robots, we 

human beings have feelings, emotions, and dreams. We are all meant to grow despite our 

circumstances and limitations. Flourishing and trying to make our dreams come true feels 

great when life goes our way. But what happens when it does not? What happens when you 

fail despite all your hard work? Do you stay down and accept defeat or do you get up again? If 

you tend to persevere and keep going, you have what experts call ‘grit’. 

Falling down or failing is one of the most agonising, embarrassing, and scary human 

experiences. But it is also one of the most educational, empowering, and essential parts of 

living a successful and fulfilling life. Thomas Edison is an example of grit for trying more than 

1,000 times to invent the light bulb. If you are reading this with the lights on in your room, you 

will realise the importance of his success. When asked why he kept going despite hundreds of 

failures, he merely stated that they had not been failures, they were hundreds of attempts 

towards creating the light bulb. This statement not only revealed his grit but also his optimism 

for looking at the bright side. 

Grit can be learnt to help you become more successful. One of the techniques that help is 

mindfulness. Mindfulness is a practice that makes an individual stay at the moment by 

bringing awareness of his or her experience without judgement.  
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1. The reason why you are not a robot is that: 
(a) You fail miserably at tasks 
(b) You have feelings and emotions 
(c) You work hard 
(d) You have limitations 

 
2. ……………… was created after many attempts. 

(a) electricity 
(b) light bulb 
(c) current 
(d) tube light 

 
3. Here in the passage, the word “grit” means …. 

(a) Not to give up and keep trying to achieve something 
(b) To leave the task in case of failure 
(c) to accept defeat 

    (d) not to try difficult tasks 
 

 
4. Though falling down or failing is one of the most agonising, embarrassing, and scary human 

experiences, you need to consider it a/an ……………… experience of your life. 
(a) Bad  
(b) Educational & empowering  
(c) Discouraging  
(d) Unwanted 

 
5. The importance of perseverance and optimism for a successful and fulfilling life is explained 

using the example of? 
(a) Thomas Edison 
(b) George Washington 
(c) Martin Luther King 
(d) Mahatma Gandhi 

 
6. How does grit can be learned? 

(a) By becoming successful 
(b) by taking simple tasks only 
(c) through the practice of mindfulness 
(d) none of the above 

 
7. According to Thomas Edition, hundreds of failures he faced were …… 

(a) An inspiration 
(b) Hundred attempts towards success 
(c) Discouraging  

(d) Deterrents 
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8. The word ‘Flourishing’ means: 
(a) Prosperous 
(b) Refuting 
(c) Declining  
(d) Losing 

 
9. The synonym of ‘perseverance’ is……… 

(a) Feebleness 
(b) Determination 
(c) Assurance 
(d) Persuasive 

 
10. The Antonym of ‘Optimism’ is……… 

(a) Positivity 
(b) Confidence 
(c) Pessimism 
(d) Hopefulness 

 
 
Q.3:  Read the passage carefully and answer the following questions:   (1x10=10) 

Pyramids have an inexplicable power to preserve the things placed inside them. Pyramids 
were used in ancient Egypt to preserve the mummies of the Pharaohs or king. It was found 
that small desert animals that had wandered into the pyramids had died but not decayed. 
Bevis, a Frenchman experimented with various models of pyramids - by placing inside them 
highly perishable food. Surprisingly, they were preserved far beyond their usual span. 

A Czech engineer Karel Drbal read about the experiments by Bevis and wondered whether the 
pyramids will have similar effect on the corrosion of metals. He left some blunt blades under 
the model pyramid and indeed the blades had become sharper. Drbal's invention was 
patented. How and why this works no one knows.  

A razor blade has edges made up of a fine layer of crystals. The edges are so fine that it is 
believed that the pressure of moonlight can rub them off and sharpen the blade. May be the 
shape of the pyramid has the power to concentrate the energy on the things placed in it. The 
possibility of power the pyramids have is endless. Maybe it could be used to preserve youth, 
ensure good health or may be even build your house in the shape of pyramid and so increase 
your life span. 

1. According to the passage, Pyramids were used in ancient Egypt to …. 

(a) preserve the mummies of the pharaohs or king  
(b) Hide aliens inside it 
(c) Sharpen the blades of swords 
(d)Preserve food grains inside it 
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2. Bevis, a Frenchman experimented and found that pyramids can 
(a) protect animals from predators 
(b) concentrate energy 
(c) be used to bury Egyptian kings 
(d) preserve perishable food item beyond their usual span 

3. How and why this works no one knows (Para 2). Here the word ‘this' refers to 
(a) sharpening of blades in the experiments by Karel Drbal 
(b) Preserving youth in pyramids  
(c) Burying Pharaohs in Pyramids 
(d) experiment performed by Bevis 
 

4. The word ‘patented' in Para 2 means 
(a) belonging to all 
(b) not owned by anyone 
(c) exclusively owned  
(d) owned by the government 
 

5. A Czech engineer Karl Drbal experimented to find the effect of pyramids on  

(a) perishable foods 
(b) mummies 
(c) corrosion of metals 
(d) health 

 

6. A razor blade has edges made up of a fine layer of …  

(a) glass 
(b) crystals 
(c) wood 
(d) None of the above 

7. The power of pyramids 
(a) has been fully developed 
(b) is being explored through various experiments 
(c) is of no use at all 
(d) has unlimited uses 

8. The synonym of the word ‘Corrosion’ is…... 
(a) construction. 
(b) development. 
(c) Decay 
(d) Sharpen 
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9. The word ‘blunt’ means … 
(a) Sharp 
(b) Heighten 
(c) dull/rounded 
(d) Merge 

 

10. The antonym for the word ‘Perishable’ is .. 
(a) Fresh 
(b) Preserved 
(c) Fragile 
(d)Delicate 

Q.3 : Choose the correct answer with reference to the context :    (1 x 5 = 5) 

‘At first, he huddled over his food, refusing to confide in her.’ 

(I) The given sentence is from the following chapter...... 

(a) A Hero 

(b) Nine Gold Medals 

(c) The Mind Reader 

(d) The Bangle Sellers 

(II) Who is referred as ‘he’ in the given statement ? 

(a) The king 

(b) The shepherd 

(c) The Dewan 

(d) A courtier 

(III) Who is referred as ‘her’ in the given statement ? 

(a) The author 

(b) Dewan’s daughter 

(c) The Queen 

(d) The shepherdess 

(IV) Name the author of the chapter. 

(a) R. K. Narayan 

(b) David Roth 

(c) Sarojini Naidu 

(d) Aditi De 

(V) Choose the antonym of the word ‘confide’ from the given options 

(a) Tell 

(b) Admit 

(c) Let out 

(d) Betray 

Pg – 5 of 9 

 



 

Q4. Choose the correct answer with reference to the context.     (1 x 5 = 5) 

Whose woods these are I think I know. 
 His house is in the village though;  
he will not see me stopping here.  
To watch his woods fill up with snow.’ 
 

(I) What does ‘woods’ mean here ? 

(a) Snow 

(b) Forest 

(c) Wood 

(d) Farm 

(II) Why did the poet want to stop by the woods ? 

(a) To take rest 

(b) To reach his destination 

(c) To avoid a stormy night 

(d) To enjoy the scene 

(III) The woods were filled up with ________ 

(a) Ice 

(b) Hail 

(c) Snow 

(d) Flowers 

(IV) What is the rhyme scheme for the given stanza ? 

(a) aaba 

(b) aaaa 

(c) abbb 

(d) abab 

(V) The season described in the poem is ____________ 

(a) Summer  

(b) Winter 

(c) Autumn 

(d) Spring 

 

Q.5 Choose the appropriate word/words to fill in the blanks.          (1x10= 10) 

 

(i)    My friends recommend _______ book even though they________ have never read it. 

 

a) These/himself 

b) This/himself 

c) This/themselves 

d) These/themselves 
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(ii) Whenever Sanya comes here, she breaks some glass item. Last week, she________ my 

crystal  vase. She has _______at least five of my beautiful crystal decorative pieces till 

now. 

a) Break/breaken 

b) Broke/broken 

c) Stole/broken 

d) Breaks/broken 

 

(iii) My arms and legs are aching now as ______________ since 5:00 AM. 

a) I’m swimming 

b) I swam 

c) I swim  

d) I’ve been swimming 

 

(iv) Long dresses will make you look ____________ than the short ones. 

a) Eleganter 

b) Most elegant 

c) More elegant 

d) Elegantest 

 

(v) Satish  ______________ on food and ___________ extravagantly on gadgets and gizmos. 

a) Saves/spends 

b) Spends/saves 

c) Chews/showers 

d) Consumes/empties 

 

(vi) ____________ her father nor her mother attended the Parent -Teacher meeting. 

a) Neather 

b) Niether 

c) Neether 

d) Neither 

 

(vii) The sentence - ‘ The maiden’s melodious music mesmerizingly echoed in the Valley’- 

has  ________. 

a) Alliteration 

b) Simile 

c) Repetition 

d) Personification 
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(viii) The auditorium was packed but the speaker disappointed the audience with his 

_________ speech. 

a) Awesome 

b) Dull 

c) Enthusiastic 

d) Encouraging 

 

(ix) I ___________ like to make more friends. I am a friendly person. 

a) Will 

b) Would 

c) Won’t 

d) Wouldn’t 

 

(x) _____________ citizen has fundamental rights in a democracy. 

a) Each  

b) Every 

c) All 

d) Some 

Section-B (40 Marks) 

Q6. Do as directed:           (1 x 10 = 10) 

(i) The king teased the court pundits. ( Change the sentence into a negative sentence) 

(ii) My spectacles___________(are/is) missing from my bag. ( Choose the correct verb to fill in 

the blank)  

(iii) Notices ___________been sent to all involved. (has/have) (Choose the correct verb and fill 

in the blank) 

(iv) She has cooked a wonderful dinner.  ( Change the voice) 

(v) Columbus discovered America. ( Change the voice) 

(vi) When you returned home last night ? (Correct the sentence) 

(vii) They are staying in the countryside. ( Change the sentence into an interrogative sentence) 

(viii) Did the girl open the door ? (Divide the sentence into subject and predicate) 

(ix) The results are out. ( State whether the verb in the sentence is transitive or intransitive) 

(x) He told me a story ( Write the direct and indirect object from the given sentence.) 

Q.7. You study in a residential school. Your sister has recently got admission in Vikas Residential 

School in another city. She is homesick and wish to return  home. Write a letter to your sister, 

encouraging her by telling her about the advantage of studying in a residential school and 

giving her useful tips on how to adjust to hostel life.     (1X5=5) 
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Q.8. Your school has celebrated the 75th Independence Day on 15th August in the school premises. 

As the Secretary of your school - Armada Public School, Delhi, write a report in 100-125 words 

for your school magazine. You are Ankit/Ankita.          (1X5=5) 

OR 

You are Shyam/Shyama, the Cultural Secretary of St. John’s School, Mumbai. You have been 

asked to inform students of Class VIII about an Inter-School Dance Competition. Draft a 

Notice in not more than 50 words for the students’ Notice board with all necessary  

details.               (1 x 5 = 5) 

          

Q.9: Read the given extracts and answer the following questions :        (1X4=4) 

‘Oh, my poor Mathilde ! How you are changed !’ 

a) Who said this and to whom ? 

b) Name  the author of the chapter. 

c) What had made Mathilde look poor ? 

d) How did the speaker react on seeing Mathilde ? 

Q.10: Answer any five questions briefly in about 30-40 words:        (2X5=10) 

a) What arrangements did Mathilde’s husband make for her? What did he suggest her further ? 

b) Why was the speaker not interested in the power offered by the king ? 

c) Why did the narrator’s mother ask him to call Bodh Raj even though she did not approve of 

their friendship ? 

d) What were the dishes that Mohammad Qadir had prepared for the Nawab? 

e) Why did the dewan stop by the house of the mind reader ? 

f) Why does the speaker say that his horse will be surprised by his decision to stop there? (From 

stopping by woods on a snowy evening) 

Q11. There are two Bodh Rajs in the story ‘The Boy with the Catapult.’ Which one do you like more 

and why?                      (1X3=3) 

Q12. Write the character sketch of Qadir and the Nawab in the light of the story ‘Dal Delight. (1x3=3) 

            

****************      
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  DELHI PUBLIC SCHOOL 
SAIL TOWNSHIP, RANCHI 

                 HALF YEARLY EXAMINATION 2021-2022 

Class –VII                 Subject- Mathematics 

Time- 3 Hrs.                    F.M.- 80   

          

General Instructions:-  

1. The question paper contains two parts – Part A and Part B. 

2. Both parts have internal choices. 

3. Part A consists of two sections I and II. 

4. Part B consists of three sections A, B and C. 

5. Section 1 has 16 questions of 1 mark each. Internal choice is there in 5 questions. 

6. Section 2 has 4 questions on case study. Each case study has case based 5 subparts. 

Examinee has to attempt any 4 subparts out of 5 i.e. 16 marks. 

7. Question no. 21 to 26 are very short answer type questions of 2 marks each  

i.e. 12 marks. 

8. Question no. 27 to 33 are short answer type questions of 3 marks each i.e. 21 marks. 

9. Question no. 34 to 36 are long answer type of questions of 5 marks each i.e. 15 

marks. 

10. Internal choices are provided in 2 questions of 2 marks, 2 questions of 3 marks each 

and 1 question of five marks. 

PART - A 

        SECTION –I     (1×16=16) 

1. Find the product of  (–3) × (–6) × (–2) × (–1) 

   OR 

 The difference of an integer (a) and (–5) is (–3). Find the value of a. 

2. Solve 2 
�

�
  –  5	

1

7
  . 

   OR 

 Find   100.01 × 1.11. 

3. Find the mode of the given data : 

 10,  8,  4,  7,  8,  11,  15,  8,  4,  2,  3,  6,  8. 

   OR 

 A coin in tossed 200 times and head is obtained 118 times. What is the probability of 

getting a tail ? 
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4. Among two supplementary angles, the measure of the larger angle is 44 more than the 

measure of the smaller. Find the measure. 

5. Find the complement of   (i) 25
O
 ,  (ii) 60

O
. 

6. Find the angle which is its own supplement. 

7. Out of a pair of complementary angles, one is two third of the other. Find the angles. 

8. In ∆ABC, ∠A = 100
O
. AD bisects ∠A and AD ⊥ BC. Then find ∠B. 

9. In a right angled triangle ABC, if angle B = 90
O
, BC = 3cm and AC = 5cm then find the 

length of AB. 

OR 

        If the measures the angles of a triangle are (2x), (3x – 5)
O
 and (4x – 13)

O
 then find x. 

10. If for ∆ABC and ∆DEF, the correspondence CAB ↔ EDF gives a congruence, then write 

the corresponding sides and angles which are equal. 

OR 

 If ∆PQR ≅∆EFD, 

 (i) Which side of ∆PQR equals ED ? 

 (ii) Which angle of ∆PQR equals ∠E. 

11. Is ∆PQR congruent to ∆DEF? If in ∆PQR, PQ = 17cm, QR = 15cm, PR = 18cm and in 

∆DEF, DE = 18cm, EF = 17cm, DF = 15cm. 

 If they are congruent, write out the pairs of equal angles. 

12. Add :  4x
2
y,  8x

2
y  and  – 2x

2
y. 

13. Solve the equation 3 (x+6) = 21 and check the result. 

14. The sum of two consecutive whole numbers is 43. Find the smaller number. 

15. Twice a number when increased by 7 gives 25. Find the number. 

16. Convert the following equation in statement form : 

  5p = 20 

PART - A 

            Section – II        (4×4=16) 

   Case Study Questions. Attempt any 4 subparts out of 5. Each subpart is of 1 mark. 

17. In a class test containing 10 questions, 5 marks are awarded for every correct answer and 

(–2) marks are awarded for every incorrect answer and 0 for each questions not attempted. 

 (i) Ravi gets 4 correct and 6 incorrect answer. What is his score ? 

  (a) 8  (b) 12  (c) 14  (d) 16 

 (ii) Renu gets 5 correct and 5 incorrect answer. What is her score ? 

  (a) 12  (b) 10  (c) 15  (d) 25 
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 (iii) Heena gets 2 correct and 5 incorrect answers. What is her score? 

  (a) 10  (b) 5  (c) 4  (d) 0 

 (iv) Ranjit attempts all questions but 6 are correct. What is her score? 

  (a) 20  (b) 30  (c) 22  (d) 38 

 (v) Rita gets 7 correct and 3 incorrect answers. What is her score? 

  (a) 29  (b) 21  (c) 35  (d) 28 

18. A rule for finding the approximate length of diagonal of a square is to multiply the length 

of a side of the square by 1.414. What will be the length of the diagonal in cm when 

 (i) the length of side of the square is 8.3cm. 

  (a) 12.7862 (b) 11.7362 (c) 12.8732 (d) 16.7362 

 (ii) length of side of the square is exact 7.875cm 

  (a) 11.13525   (b) 12.4385 

  (c) 16.2585   (d) 14.1358 

 (iii) the length of the side of the square is exactly 14.35 cm 

  (a) 20.2506 (b) 28.3561 (c) 20.2909 (d) 18.3561 

 (iv) the length of the side of the square is 3.14 cm 

  (a) 4.43996 (b) 4.44  (c) 5.369 (d) 4.43996 

 (v) the length of the side of the square is 11.7 cm 

  (a) 16.5438 (b) 15.5532 (c) 14.3848 (d) 16.5555 

19. The marks in a subject for 12 students are as follows :- 

 31,  37,  35,  38,  42,  23,  17,  18,  35,  25,  35,  29 

 For the given data, 

 (i) The mean is 

  (a) 25  (b) 30.41  (c) 33  (d) 35 

 (ii) The mode is 

  (a) 25  (b) 30.41  (c) 33  (d) 35 

 (iii) The median is 

  (a) 25  (b) 30.41  (c) 33  (d) 35 

 (iv) The Range is 

  (a) 25  (b) 30.41  (c) 33  (d) 35 

 (v) How many students have marks more than mean marks ? 

  (a) 7  (b) 6  (c) 8  (d) 5 
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20. Rohit's mother gave him Rs. 6xy
2
 and his father gave him 5 (xy

2
 + 2). Out of this, he spends 

Rs. (10 – 6xy
2
) for his excursion trip. 

 (i) How much money is left with him ? 

  (a) 17 xy
2
 (b) 11 xy

2
 (c) 10 xy

2
 (d) 12 xy

2
 

 (ii) What is the total money given by his mother ? 

  (a) 4 xy
2
  (b) 6 xy

2
  (c) 11 xy

2
 (d) 17 xy

2
 

 (iii) How much money was given by father ? 

  (a) 5 xy
2
+10 (b) 5 xy

2
+2 (c) 10 xy

2
 (d) 10 

 (iv) Total money spent in birthday party 

  (a) 11 xy
2
+10 (b) 10–6 xy

2
 (c) 10 xy

2
–3 (d) 110 xy

2
 

 (v) Total amount of money he had before spending. 

  (a) 11 xy
2
+10 (b) 8 xy

2
+10 (c) 18 xy

2
 (d) 110 xy

2
 

 

Part - B 

             Section – A        (2×6=12) 

21. Find the product, using suitable properties 

 26 × (–48) + (–48) × (–36) 

    OR 

 Simplify  :  [ (–8) × (–2) ]  ÷  [ (–8) × (–1) ] 

22. A car runs 16km using 1 litre of petrol. How much distance will it cover using 2 
�

�
l of 

petrol? 

23. The lines AB and CD intersect at a point O. If ∠AOC = 42
O
, find the measure of each of 

the angles (i) ∠AOD,  (ii) ∠BOD,  (iii) ∠COB. 
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24. In the figure  ∠1 = ∠2 ,   ∠3 = ∠4. 

 

 (a) Is ∆ADC ≅ ∆ABC?  Why? 

 (b) Is AD = AB, and CD = CB? 

25. Add:   5x
2
 – 7x + 3,     –8x

2
 + 2x – 5,    7x

2
 – x – 2. 

   OR 

 Subtract a
2
 – 3ab from 2a

2
 – 7ab. 

26. Solve the equation:  16 (3x –5) – 10 (4x – 8) = 40. 

 

       SECTION – B      (3×7=21) 

27. A certain freezing process requires that room temperature be lowered from 40
O
C at the rate 

of 5
O
C every hour. What will be the room temperature 10 hours after the process begin? 

28. Suman studies for 5 
�

�
 hours daily. She devotes 2 

�

�
 hrs. of her time for Science and 

Mathematics. How much time does she devote in other subjects? 

29. In the given figure, l || m, and t is a transversal such that ∠1 = 135
O
, find the measure of all 

other angles. 
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    OR 

    In the figure, identify the  

          

         (i) pairs of corresponding angles. 

 (ii) pairs of alternate interior angles. 

 (iii) vertically opposite angles. 

 

30. AM is a median of a ∆ABC. Show that AB + BC + CA > 2AM. 

31. From the figure, show that ∆AMP ≅ ∆AMQ. 

 

32. In the figure, PA ⊥ AB, QB ⊥ AB  and PA = QB. 

 Prove that ∆OAP ≅∆OBQ.Is OA = OB ? 

 

Or 

 ∠A = ∠F,  ∠B = ∠E = 90
O
,  BC = ED. 

 Prove that :  ∆ABC ≅∆FED. State the rule. 
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33. The length of a rectangular plot exceeds its breadth by 5 metres. If the perimeter of the plot 

is 142 metres, find the dimensions of the plot ? 

 

       SECTION – C      (5×3=15) 

34. A mathematics teacher wants to see that her new teaching skills are effective or not. She 

takes the scores of the 5 weakest children in the Monday test (out of 25) and the Ability 

test (out of 25). 

Students Rahul Misha Karan Sushmita Aryan 

Monday Test 10 15 12 20 9 

Ability Test 15 18 16 21 15 

 

 (i) Draw a double bar graph choosing an appropriate scale. 

 (ii) Should the teacher continue teaching with the new technique ? 

35. Find the perimeter of a rhombus, the lengths of whose diagonals are 16cm and 30cm. 

OR 

 Jayanto takes shortest route to his home by walking diagonally across a rectangular park. 

The park measures 60m × 80m. How much shorter is the route across the park than the 

route around its edges ? 

36. If  A = 3x
2
 – 4x + 1,   B = 5x

2
 + 3x – 8 and C = 4x

2
 – 7x + 3, then find  

 (i) (A + B) – C 

 (ii) B + C – A 

 (iii) A + B + C        [2+2+1=5] 

 

 

 

****************** 



 

 

     DELHI PUBLIC SCHOOL 
                   SAIL TOWNSHIP, RANCHI 

                                HALF YEARLY EXAMINATION (2021-2022) 

  Class:- VII                                           Subject:- Science   

            Time – 3 Hrs.                                F.M. :- 80 

All questions are compulsory. 

Marks are indicated against each question. 

I. Choose the correct answer :-           [1X2=2] 

1. The SI unit of temperature is 

     a. Kelvin  b. Celsius              c. Fahrenheit   d. Centigrade 

2.  The centre of a spherical mirror is called 

 a. Aperture  b. Principal axis      c. Radius of curvature d. Pole 

II. Very short answer questions :                  [1X2 = 2] 

3. Which is the fastest mode of transfer of heat?       

4.  Angle between the incident ray and the reflected ray is 50°. Find the angle of incidence.  

III.   Short answer questions          [2 x 3 = 6] 

5. i) State one advantage of using mercury as thermometric liquid.                         

    ii) A clinical thermometer cannot be used for measuring the temperature of ice. Why? 

6. i) What do you mean by good conductor of heat?                                                                     

   ii)  Why do we prefer to wear light coloured clothes in summer? 

7. Name the mirror or lens used as                 

a. Periscope  b. Magnifying glass  c. Reflector of torch  d. Rear view mirror of car 

IV. Long answer questions:           [3x 4 = 12] 

8. i) Convert 113 °F into °C and K                       

      ii)   What is the normal temperature of a healthy person? 

9. Write two differences between clinical and laboratory thermometer. 

 An iron ball at 42 degrees Celsius is immerged in a beaker of water at 42 degrees Celsius?    

In which direction will the heat flow and why?                       

10. A person is standing in front of a plane mirror at a distance of two metre. What is  

     the  nature of the image formed? ( two points ) 

                 At what distance the image is formed  inside the mirror?      

     If the person walk away one metre from the initial position. At what distance the  

     image will be from the object now? 
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11.  Draw a ray diagram to show the formation of an image of an object placed between  

      the focus and the pole of a concave mirror. Mention three uses of concave mirror 

V. Very long answer questions :        [5x1 =5] 

       12.  A.  Define convection. What do you mean by sea breeze? When does it occur? 

 Draw a labelled diagram of sea breeze. 

                    OR 

B.  What do you mean by dispersion of light? What is spectrum? Name all the  

     colours  present in it. Why do we use red colour for danger signal? Show dispersion  

     of White light through a prism. 

CHEMISTRY 

I. Choose the correct answer:-           [1X3=3] 

       1. Acidic soil can be neutralized by adding : 

A. Quick lime  B. Slaked lime 

C. Both A & B  D. Magnesium Hydroxide.                                                  

 2.  Which one of the following is an alkali : 

A. Mg (OH)2 

B. Al (OH)3 

C. Na OH 

D. None of the above.                                                        

3. In a combination reaction how many products are formed? 

A. Two only 

B. One only 

C. One or two only 

D. Number can not be specified.                                    

II. Very short answer questions :                  [1X2 = 2] 

4. What is the solution called which does not change the colour of any indicator ?         

5. Name the chemical which absorbs the moisture and do not allow rusting.                 

III.  Short answer questions          [2x4= 8] 

6. What is neutralization reaction ? 

    Why  just after neutralization reaction the test tube becomes hot ? (1+1)      

      7. A) Name one mineral acid and one organic acid. 

    B) Which acid contains more water dilute acid or concentrated acid?    (1+1) 

      8. Write the chemical formula of the following:  

A. Lime water 

B. Calcium Carbonate 

C. Baking Soda 

D. Ferrous Sulphate.                   (1/2 x4 =2) 
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9. a) State the colour change when an iron nail is dipped in copper sulphate   solution. 

    b) Write the word equation of the reaction  between iron nail and copper sulphate. (.5+ 1.5) 

IV.  Long answer question:          [3x3 = 9] 

10. What is acid rain? Write the name of two pollutants causing acid rain.                    

11. What is steel? Name one non metal and one metal other than iron used to make steel.    

12. What is indicator? By which natural source blue and red litmus is formed? Write  

            the name of one synthetic indicator.                                       

V .  Long answer question:          [1x5=5]                                                              

13. A) What are the two necessary conditions for rusting? 

            B) Draw a labelled diagram to show, if any one condition is absent there will be no  

                 rusting.         (2+3) 

                   OR 

A. White ash formed by burning of Mg ribbon when gets  dissolved in water ,gives a solution. 

Write the chemical name of the solution. What is the nature of solution? 

B. Draw a labelled diagram of the activity to show what happens when CO2 gas is passed 

through freshly prepared limewater.                                                     (1+1+3) 

BIOLOGY 

I. Choose the correct answer:-           [1X2=2] 

              1. Carbohydrate that plants synthesize during photosynthesis are made up of   

 A. Carbon, nitrogen and hydrogen 

B. Carbon and hydrogen only 

C. Carbon, hydrogen and oxygen 

D. None of these 

2.  The protein present in red blood cells responsible for the transportation of oxygen is   

A. Albumin 

B. Fibrinogen 

C. Globulin 

D. Haemoglobin 

II. Very short answer questions :                  [1X2 = 2] 

3. Explain the role of saliva in the digestion of food.       

4. What are the functions of hair and mucus inside the nose? 

     

III.  Short answer questions          [2x4= 8] 

5. Bile juice does not contain any digestive enzymes, yet it is important for digestion. 

Explain why? (2 points)   

6. Draw a neat labelled diagram to show the various regions of tongue for different tastes.  
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7. Mention one functional difference between pulmonary artery and pulmonary vein. 

8. Give reasons for the following statements:- 

a. Arteries have thick, elastic and muscular walls. 

b. A septum divides the heart into right and left halves.   

 

IV.  Long answer question:          [3x3 = 9] 

9. a. What happens to the food in 

i. Stomach and 

ii. Small intestine? 

b. Mention how digested food is absorbed into the blood. 

10. a. Represent the process of photosynthesis with the help of a labelled diagram. 

        b. Explain how photosynthesis is different from respiration. (2 points)  

11. a. Draw a neat diagram of human excretory system and label on it 

i. the part that has numerous filtering units 

ii. the part that temporarily stores urine before excretion 

b. What is the composition of human urine? 

 

V. Long answer type question:-          [5] 

 

12. a. Why does anaerobic respiration sometimes take place in our muscles? What causes  

    muscle  cramps? 

b. State the above reaction in form of a word equation. 

c. List any two differences between aerobic and anaerobic respiration. 

OR 

a. Explain briefly the process of respiration in the roots of a plant. 

b. Draw a neat diagram to show how roots absorb air from the soil. 

c. What would happen if you over water a healthy potted plant? 

 

 

******************* 
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 All Questions are compulsory. 

 Marks are indicated against each question.  

HISTORY  

I. Choose the correct option in the following questions-     (1×6=6) 

1. A person who makes maps- 

(i) numerologist 

(ii) photographer 

(iii) cartographer 

(iv) none of these 

2. Name the  place where documents and manuscripts were stored 

(i) library 

(ii) museum 

(iii) sanatorium 

(iv) archive 

3. Who was the ruler who founded the Chola Kingdom in South India 

(i) Vijayalaya 

(ii) Raja Raja I 

(iii) Rajendra Chola 

(iv) none of these 

4. Association of Brahmin land owners in Chola Kingdom was known as 

(i) ur 

(ii) sabha 

(iii) nagaram 

(iv) none of these 
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5. Timur captured Delhi in the year 

(i) 1398 

(ii) 1498 

(iii) 1598 

(iv) 1698 

6. The temple with tallest Shikhara of its time 

(i) Khajuraho temple 

(ii) Nishumbhasudini temple 

(iii) Raja rajeshwara temple 

(iv) none of these 

II.  Answer these questions-         (3×4=12) 

7. What were some of the major religious development of the medieval period? 

8. What were the activities associated with the Chola temples? 

9. What were the steps taken to ensure that the muqtis performed their duties? 

10. Why didn’t the authors of ‘tawarikh’ provide information about  the lives of ordinary  

     men   and women in the medieval period ? 

III. Answer in detail-          (5×2=10) 

11. (i) Why did the Mughal used the grading system called ‘ mansabdari’?(3) 

     (ii)What was the relationship between a mansabdar and  a jagirdar ?(2) 

12. Explain any five important features of Mughal architecture. 

CIVICS 

IV.  Define-           (1×2=2) 

13. Universal adult franchise 

14.  Medical tourists 

V.  Choose the correct option-         (1×5=5) 

15. A gathering of journalist from the media who are invited to hear about and ask  

      questions on a particular issue and are then expected to report on this to the larger public 

(i) OPD 

(ii) press conference 

(iii) opposition 

(iv) none of these 
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16. A situation when more than half the number in a group supports a decision or an idea 

(i) opposition 

(ii) constituency 

(iii) majority 

(iv) none of these 

17. When someone forcefully breaks the law or rule or openly shows disrespect, it is 

(i) violation 

(ii) opposition 

(iii) rebellion 

(iv) none of these 

18. Rashsundari Devi learnt to read and write Bangla initially to read this book 

(i) Mahabharat 

(ii) Ramayana 

(iii) Puranas 

(iv) Chaitanya Bhagabat 

19. Rokeya Shakhawat Hossain wrote a book in English titled 

(i) A Life Apart 

(ii) The Prisons we broke 

(iii) Amar Jibon 

(iv) Sultana’s Dream 

VI.  Answer these questions-         (3×4=12) 

20. What are the provisions given in our Constitution to recognise equality in India? 

21. Compare the merits and demerits of public and private healthcare facilities in India. 

22. What is the process involved in the election of a state chief minister? 

23. Discuss the efforts of Pandita Ramabai Ranade to improve the condition of females  

      in  society. 

VII.  Answer in detail           (1×5=5) 

24. Write in your own words the meaning of the terms , invisible, devalued,  

      physically    demanding, and time consuming. Give one example of any one based on  

      the household task. 
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GEOGRAPHY       

I.   Answer the following questions in very short :                                            [1X3=3]  

1. The remains of the dead plants and animals trapped in the layers of rocks are called 
____________. 

2. In which country Angel Falls is located? 

3. Name the rivers that drain in the Velds. 

II.  Answer the following questions in short:             [3X3=9] 

        1.     “Atmosphere is very important for us”- Explain in three points. 

2.     (a) What are Minerals?  

    (b) How are they useful for mankind? (Write in two points)  (1+2=3) 

3.     Describe the boundaries of Velds region on the East , West, and  North- East part. 

III. Answer the following questions in details:                 [5X2=10]  

1.    A) Distinguish between Crust and Core. (Give two points of each) 

               B)  Explain Igneous, Sedimentary and Metamorphic rocks with examples.       (2+3=5) 

    2.    A) Define Focus and Epicenter of Earthquake.  

          B) How is the magnitude of Earthquake is measured and also mention the effect of  

               the following level of magnitude of the earthquake.     (2+3=5) 

  a) 5.0                                 b) 6.0                        c) 7.0     

IV. Draw the diagram of Features made by a river in a flood plain and label it.   [3]  

V.   On the outline map of North America locate,  label and also colour the following  items : [1X3=3]                                  

 A. Rocky Mountains 

B.  Prairies 

C. Gulf Of Mexico  
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                d{kk& lkrd{kk& lkrd{kk& lkrd{kk& lkr                

                le;& le;& le;& le;& 3 ?kaVs?kaVs?kaVs?kaVs            
    

lkekU; funsZ”klkekU; funsZ”klkekU; funsZ”klkekU; funsZ”k    %%%%&&&&    

(i) bl iz”u &i= esa nks [kaM gSa & d vkSj

         (ii) [kaM & d  (oLrqfu’B) vkSj  [kaM & [k 

    (iii) nksuksa [kaMksa ds iz”uksa ds mÙkj nsuk vfuok;Z gSA

    (iv) ;FkklaHko izR;sd [kaM ds mÙkj Øe”k% nhft,A

1 fuEufyf[kr xn~;ka”k dks /;kuiwoZd i<+dj uhps fn, x, iz”uksa ds mÙkj nhft,A

   I.  Hkkjrh; xzkE; thou] tks dkyak
tk jgk gSA xk¡oksa dh n”kk dks lq/kkjus ds fy, dsoy ljdkjh mik; dks i;kZIr ugha ekuk tk 
ldrkA blds fy, xzkeh.k ;qok oxZ dks vkxs 
dk R;kxdj xk¡oksa esa gh dqVhj mn~;ksx yxkdj mnkgj.k izLrqr dju
vk/kkjf”kyk f”k{kk rFkk LokLF; gSA xzkeh.kksa dks pkfg, fd
mUgsa f”kf{kr djsaA xzkeokfl;ksa dks izkphu :f<+;ksa] dqlaLdkjksa] dqjhfr;ksa rFkk dqizFkkvksa dk loZFkk 
R;kx djuk gksxk] rHkh os mUufr dj ldrs gSaA ;fn 
ij Hkkjr dk xzkeh.k dr̀&ladYi gks tk, rks og fnu nwj ugha tc x
esa O;kIr va/kdkj dks lekIr dj mUufr dh ubZ vk/kkjf”kyk j[ksxkA

iz”u &  

(i) xzkE; thou dh vk/kkjf”kyk 

  (d) f”k{kk rFkk LokLF;    ([k

(ii) Hkkjrh; xzkE; thou dh 

(d) [ksy     ([k

(iii)  xk¡o dh n”kk lq/kkjus ds fy, ;qokoxZ dks 

(d) izn”kZuh    ([k) jkstxkj esyk 

 

    fnYyh ifCyd LdwyfnYyh ifCyd LdwyfnYyh ifCyd LdwyfnYyh ifCyd Ldwy    
    lsy Vkmuf”ki] lsy Vkmuf”ki] lsy Vkmuf”ki] lsy Vkmuf”ki] jk¡phjk¡phjk¡phjk¡ph     

                                              v/kZokf"kZd ijh{kk v/kZokf"kZd ijh{kk v/kZokf"kZd ijh{kk v/kZokf"kZd ijh{kk (2021-2022)    
                                                                                        

                                    

[kaM gSa & d vkSj [k 

[kaM & [k  (o.kZukRed) 

[kaMksa ds iz”uksa ds mÙkj nsuk vfuok;Z gSA 

;FkklaHko izR;sd [kaM ds mÙkj Øe”k% nhft,A 

[k.M & d[k.M & d[k.M & d[k.M & d                    

/;kuiwoZd i<+dj uhps fn, x, iz”uksa ds mÙkj nhft,A

krj esa ,d n;uh; fLFkfr esa igq¡p x;k Fkk] vc iqu% vkd’kZd curk 
tk jgk gSA xk¡oksa dh n”kk dks lq/kkjus ds fy, dsoy ljdkjh mik; dks i;kZIr ugha ekuk tk 

h.k ;qok oxZ dks vkxs vkuk gksxkA mUgsa “kgjksa dh vksj iyk;u dh izo`fÙk 
esa gh dqVhj mn~;ksx yxkdj mnkgj.k izLrqr djuk gksxkA xzkE; thou dh 

kLF; gSA xzkeh.kksa dks pkfg, fd os vius cPpksa dks fon~;ky; Hkstsa rFk
mUgsa f”kf{kr djsaA xzkeokfl;ksa dks izkphu :f<+;ksa] dqlaLdkjksa] dqjhfr;ksa rFkk dqizFkkvksa dk loZFkk 
R;kx djuk gksxk] rHkh os mUufr dj ldrs gSaA ;fn n`<+rk] bPNk “kfDr rFkk Lokoyac
ij Hkkjr dk xzkeh.k dr̀&ladYi gks tk, rks og fnu nwj ugha tc xzkeh.k thou dk izdk”k Hkkjr 
esa O;kIr va/kdkj dks lekIr dj mUufr dh ubZ vk/kkjf”kyk j[ksxkA 

xzkE; thou dh vk/kkjf”kyk ----------------gSA 

[k) esyk vkSj [ksrh    (x) [ksr [kfygku    (

Hkkjrh; xzkE; thou dh n;uh; fLFkfr dk dkj.k gS &   

[k) dqizFkk    (x) esyk   (?k) iapk;r 

xk¡o dh n”kk lq/kkjus ds fy, ;qokoxZ dks ------------ yxkuk gksxkA 

jkstxkj esyk   (x) dqVhj mn~;ksx  (?k) [ksy &izfr;ksfxrk
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        [5x1=5]    

/;kuiwoZd i<+dj uhps fn, x, iz”uksa ds mÙkj nhft,A 

uh; fLFkfr esa igq¡p x;k Fkk] vc iqu% vkd’kZd curk 
tk jgk gSA xk¡oksa dh n”kk dks lq/kkjus ds fy, dsoy ljdkjh mik; dks i;kZIr ugha ekuk tk 

vkuk gksxkA mUgsa “kgjksa dh vksj iyk;u dh izo`fÙk 
k gksxkA xzkE; thou dh 

os vius cPpksa dks fon~;ky; Hkstsa rFkk 
mUgsa f”kf{kr djsaA xzkeokfl;ksa dks izkphu :f<+;ksa] dqlaLdkjksa] dqjhfr;ksa rFkk dqizFkkvksa dk loZFkk 

n`<+rk] bPNk “kfDr rFkk Lokoyacu ds cy 
zkeh.k thou dk izdk”k Hkkjr 

(?k) dksbZ ugha 

iapk;r  

[ksy &izfr;ksfxrk 



(iv)  *Lokoyacu* “kCn esa dkSu &lk milxZ yxk gS\  

(d) Lok    ([k) yacu    (x) voyacu   (?k) Lo 

(v)  cPpksa ds lokZaxh.k fodkl ds fy, mUgsa -------------- Hkstuk pkfg,A 

(d) rSjus    ([k) [ksrh djus    (x) “kgj    (?k) fon~;ky;  

II.  fuEufyf[kr xn~;ka”k dks /;kuiwoZd i<+dj uhps fn, x, iz”uksa ds mÙkj nhft,A  [5x1=5] 

nku esa egRRo gS R;kx dk] oLrq ds ewY; ;k la[;k dk ughaA ,slh R;kx cqn~f/k ls tks lqik= dks 
;kuh ftl oLrq dk ftlds ikl vHkko gS] mls og oLrq nsuk vkSj mlesa fdlh izdkj dh dkeuk 
u j[kuk mÙke lkfRod nku gSA lar ,dukFk th dh dFkk vkrh gS fd os ,d le; iz;kx ls 
dk¡oj ij ty ysdj Jhjkes”oje~ p<+kus ds fy, tk jgs FksA jkLrs esa tc mUgksaus ,d txg ns[kk 
fd ,d xngk I;kl ds dkj.k rM+i jgk gSA mls ns[kdj mUgsa n;k vk x;h vkSj mUgksaus mls 
FkksM+k&FkksM+k djds lc ty fiyk fn;kA og xngk mBdj pyk x;kA lkfFk;ksa us lkspk fd f=os.kh 
dk ty O;FkZ gks x;k vkSj ;k=k Hkh fu’Qy gks x;h Arc ,dukFk th us g¡ldj dgk& **Hkkb;ksa] 
ckj&ckj lqurs gks] Hkxoku lc izkf.k;ksa ds vanj gSa] fQj Hkh ,sls ckoysiu dh ckr lksprs gks! esjh 
iwtk rks ;gh ls Jhjkes”oje dks igq¡p xbZA Jh ”kadj th us esjs ty dks Lohdkj dj fy;kA 

iz”u &  

(i) fu’dke Hkko ls fdlh Hkw[ks dks Hkkstu vkSj I;kls dks ty nsuk ---------- gSA 

(d) lg;ksx     ([k) lkfRod nku   (x) ,glku       (?k)deZ;ksx  

(ii) lar Jh,dukFk th ty p<+kus dgk¡ tk jgs Fks\ 

(d) nsoHkwfe     ([k) iz;kx    (x) Jhjkes”oje~    (?k) gfjn~okj  

(iii) nku esa egÙo gS -------------------A 

(d) lqik= dk  ([k) /ku dk    (x) O;fDr dk  (?k) R;kx dk 

(iv) Jh,dukFk th us xngs dks --------------ty fiyk;kA 

(d) ;equk dk   ([k) rkykc dk     (x) f=os.kh dk   (?k) dksbZ ugha  

(v) lar ,dukFk th ds vuqlkj muds ty dks ---------------------- us Lohdkj dj fy;kA 

(d) fo’.kq     ([k) czg~ek     (x) “kadj     (?k) x.ks”k  
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        O;kO;kO;kO;koooogkfjd O;kdj.kgkfjd O;kdj.kgkfjd O;kdj.kgkfjd O;kdj.k                            [18x1=18] 

2.    (i) ijLij ckrphr ;k Hkk’k.k n~okjk vius fopkj izdV djuk] Hkk’kk dk ---------:i gksrk gSA 

    (d) fyf[kr        ([k) ekSf[kd    (x) izpfyr   (?k) dksbZ ugha  

    (ii) dkSu &lk lewg var%LFk O;atu dk mnkgj.k gS \  

      (d) “k~ ‘k~ l~ g~   ([k) ;~ j~ y~ o~      (x) ;~ j~ ‘k~ o~  (?k) j~ y~ l~ g~ 

      (iii) “kqn~/k “kCn dks Nk¡VsA  

      (d)  jfpf;rk        ([k) jph;rk        (x) jpf;rk   (?k) fjp;hrk    

      (iv) fuEufyf[kr okD; fdl dky dk cks/k djkrk gS\  

 ukSdj [kkuk cuk jgk gSA 

      (d)   Hkwrdky     ([k) orZeku dky     (x) Hkfo’; dky  (?k) dksbZ ugha   

       (v) fn, x, vusd “kCnksa ds fy, ,d “kCn fy[ksaA  

      ftldk vkdkj u gks  

     (d)   lkdkj     ([k) fujkdkj        (x) izfrdkj       (?k) lHkh  

     (vi) Hkk’kk ds {ks=h; :i dks ------------------- dgk tkrk gSA 

 (d)   cksyh     ([k) fyfi          (x) O;kdkj.k      (?k) Hkk’kk  

     (vii) *ohj* “kCn dk L=hfyax crkb,A 

 (d)   ohjrk    ([k) ohjkaxuk       (x) dk;j        (?k) lezkV  

 (viii) *mRFkku* “kCn esa iz;qDr milxZ crk,¡A 

 (d)   Fkku     ([k) mr           (x) mr~   (?k) u  

(ix) “kCnksa ls iwoZ tqM+dj u, “kCn dh jpuk ,oa mlds vFkZ esa fo”ks’krk ;k cnyko  

    ykus okys “kCnka”k ---------------- dgykrs gSaA 

(d)   dky    ([k) fyax        (x) izR;;    (?k) milxZ 
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 (x) vFk “kCn dk foykse fy[ksaA 

(d)   bfr   ([k) izxfr       (x) ljy           (?k) izkphu  

(xi) Hkfo’;r~ dky dk okD; gS  

(d)   mn; fp= cuk,xk       ([k) eksgu g¡lrk gS     

(x) jhrk us pk; ih yh   (?k) cPpksa us fdØsV [ksyk  

(xii) vuqukfld /ofu;ksa ds mPpkj.k esa gok ----------------- ls fudyrh gSA 

(d)    ukd vkSj eq¡g      ([k) ukd      (x) eq¡g      (?k) dksbZ ugha  

(xiii) jkseu fdldh fyfi gS\ 

    (d)    iatkch           ([k) vaxzsth   (x) usikyh     (?k) ejkBh  

 (xiv) lnk iqfYyax okys “kCn lewg dks fyf[k,A    

(d)    ckt] rksrk] eNyh        ([k) ckt] rksrk] dNqvk   

(x) eSuk] phy] rksrk    (?k) dksbZ ugha 

(xv) fn, x, vusdkFkZd “kCn ds fodYiksa esa ls vuqi;qDr (xyr) “kCn fyf[k,A 

vuar  

(d)    vkdk”k     ([k) fo’.kq    (x) f”ko   (?k) vfouk”kh 

(xvi) *fdj.k* dk i;kZ;okph crk,¡A 

(d)    ek:r    ([k) e`x   (x) ejhfp     (?k) es?k 

(xvii) *vFkZ* “kCn dk vusdkFkhZ lewg gSA  

(d) iz;kstu] /ku] dkj.k    ([k) eryc] ?kuk] ty   (x) /ku]/kjk]Hkkx   (?k) dksbZ ugha 

(xviii) *>wB* “kCn dk i;kZ;okph “kCn gS & 

(d) feF;k     ([k) fudsru     (x) lej     (?k) ykspu  
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ifBrifBrifBrifBr    in~;ka”kin~;ka”kin~;ka”kin~;ka”k    

3333 fuEufyf[kr dkO;ka”k dks /;kuiwoZd i<+dj uhps fn, x, “kCnksa ds mÙkj nhft,A  [1x4=4] 

vkdk”k dk lkQ+k ck¡/kdj  
lwjt dh fpye [khaprk cSBk gS igkM+] 
?kqVuksa ij iM+h gS unh pknj &lh 
ikl gh ngd jgh gS iyk”k ds taxy dh vaxhBh 
va/kdkj nwj iwoZ esa fleVk cSBk gS HksM+ksa ds xYys &lkA 

iz”u &  

(i) dfork esa fdl le; dk o.kZu gS\ 

(d) izkr% dk    ([k) “kke dk     (x) nksigj dk    (?k) jkr dk  

(ii) iwjc esa va/kdkj fdl izdkj fn[k jgk gS\ 

(d) igkM+&lk   ([k) pknj&lk   (x) unh tSlk    (?k) HksM+ksa ds >qaM &lk  

(iii) bl dkO;ka”k esa fpye dh ,d:irk fdlds lkFk gS\ 

(d) igkM+ ds   ([k) pknj ds     (x) vkdk”k ds    (?k) lwjt ds  

(iv) igkM+ :ih fdlku us fdldk lkQ+k ck¡/k j[kk gS\ 

(d) diM+s dk    ([k) vkdk”k dk   (x) rkjksa dk    (?k) dksbZ ugha  

ifBr xn~;ka”kifBr xn~;ka”kifBr xn~;ka”kifBr xn~;ka”k    

4 fuEufyf[kr xn~;ka”k dks i<+dj iz”uksa ds lgh fodYiksa dk p;u djsaA   [4x1=4] 

vHkh rd eSaus mUgsa nwj ls ns[kk FkkA cM+h xaHkhj] “kkar vkSj vius vki esa [kksbZ gqbZ yxrh FkhA 
laHkzkar efgyk dh Hkk¡fr os izrhr gksrh FkhA muds izfr esjs fny esa vknj vkSj Jn~/kk ds Hkko FksA ek¡ 
vkSj nknh] ekSlh vkSj ekeh dh xksn dh rjg mudh /kkjk esa Mqcfd;k¡ yxk;k djrk] ijarq bl ckj 
tc eSa fgeky; ds da/ks ij p<+k] rks os dqN vkSj :i esa lkeus FkhaA  

iz”u & 

(i) *”kkar] xaHkhj vkSj vius vki esa [kksbZ gqbZ* & ys[kd dks ,slk dc yxrk gS\ 

 (d) miou esa   ([k) igkM+ksa ij    (x) eSnku esa    (?k) gjh&Hkjh ?kkfV;ksa esa 
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 (ii) bl xn~;ka”k ds ys[kd gSa &  

(d) dkdk dkysydj    ([k) izsepan     (x) ukxktqZu     (?k) fo’.kq izHkkdj  

(iii) **eSaus mUgsa nwj ls ns[kk Fkk ** bl okD; esa ys[kd fdUgsa ns[kus dh ckr dg jgk gS\ 

(d) ufn;ksa dks       ([k) o`{kksa dks    (x) ek¡ vkSj nknh dks    (?k) dksbZ ugha  

(iv) eSnkuksa esa ufn;k¡ fdlds leku izrhr gks jgh Fkha\ 

(d) laHkzkr efgyk ds   ([k) csfV;ksa ds   (x) cgu ds      (?k) dksbZ ugha 

5 (i) if{k;ksa ds pksap dh rqyuk fdlls dh xbZ gS\       [4x1=4] 

(d) vukj ds nkus ls   ([k) lwjt dh yky fdj.kksa ls   (x) rkjksa ls  (?k) dksbZ ugha 

  (ii) xzkgdksa dk nLrwj D;k gS\          

(d) nqdkunkj dks Bx ysuk      ([k) nqdkunkj dh ckr ij fo”okl u djuk 

(x) nqdkunkj ls cgl u djuk   (?k) dksbZ ugha 

(iii) Dokj ds cknyksa dh ;g deh gksrh gS fd os & 

(d) cjlrs gSa] xjtrs ugha      ([k) yxkrkj cjlrs gSa xjtrs gSa  

(x) xjtrs gSa cjlrs ugha      (?k) vksys Hkh fxjkrs gSa 

(iv) dkyh phafV;ksa &lh drkjsa fdUgsa dgk x;k gS\ 

(d) dkyh phafV;ksa dks     ([k) i= esa fy[ks v{kjksa dks    

(x) fdrkc esa fy[ks v{kjksa dks    (?k) Hkwjh phafV;ksa dks  

[k.M & [k  [k.M & [k  [k.M & [k  [k.M & [k  (o.kZukRed iz”uo.kZukRed iz”uo.kZukRed iz”uo.kZukRed iz”u) 

6 fuEufyf[kr iz”uksa ds mÙkj fyf[k, & (vfr y?kqmÙkjh; iz”u)      [4x1=4] 

(d) eqjyhokyk eqjfy;k¡ fdrus esa csprk Fkk\ 

([k) ikuh ;k eNyh esa lPpk izse fdldk gS\ 
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(x) fpmM+k vkSj NkSadk dk izpfyr fgUnh :i fy[ksaA 

(?k) dfork ds vk/kkj ij crk,¡ fd i{kh fdl rjg dk thou thuk ilan djrs gSa\ 

7 fuEufyf[kr y?kqmÙkjh; iz”uksa ds mÙkj nhft,A        [2x3=6] 

 (d) lryt ds izxfr”khy ty us ys[kd ij D;k vlj Mkyk\ 

 ([k) f[kykSusokys ds vkus ij cPpksa dh D;k izfrfØ;k gksrh Fkh\ 

 (x) *nknh ek¡* ikB ls vkidks D;k lans”k feyrk gS\ 

8 fdlh ,d nksgs dk vk”k; (HkkokFkZ) Li’V djsaA       [3x3=9] 

 (d)  /kjrh dh lh jhr gS] lhr ?kke vkSj esgA 

  tSlh ijs lks lfg jgs] R;ksa jghe ;g nsgAA 

       ;k ;k ;k ;k     

 dfg jghe laifr lxs] cur cgqr cgq jhrA 

 fcifr dlkSVh ts dls] rsbZ lk¡ps ehrAA 

([k)  gj rjg dh lq[k&lqfo/kk,¡ ikdj Hkh i{kh fiatjs esa can D;ksa ugha jguk pkgrs \ foLrkj ls fy[ksaA  

(x)  D;k vkt Hkh vkSjrksa dk jksfg.kh dh rjg fpd ds ihNs ls ckr djuk mfpr gS\ vki viuh jk; 
nsrs gq, bl rjg dh dqizFkk dks nwj djus ds lq>ko dk mYys[k djsaA   

9 Ckky egkHkkjr vk/kkfjr iz”u &          [2x5=10] 

 fdUgha ik¡p iz”uksa ds mÙkj fyf[k,A  

 (d) ikaMoksa dks vL=&”kL= dh f”k{kk fdlus nh\ 

 ([k) i`Fkk dk uke dqarh dSls iM+k\ 

(x) fonqj ds vuqlkj tqvk [ksyus dk ifj.kke D;k gksrk gS\ 

(?k) nsoozr dk uke Hkh’e dSls iM+k\ 

(³) egkHkkjr dh dFkk ds jpukdkj dkSu gS\ mUgksaus ;g dFkk lcls igys vius  

     fdl iq= dks lqukbZ\ 

(p) xaxk ds tkus dk “kkaruq ij D;k izHkko iM+k\  
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(N) uxj esa lekjksg dk vk;kstu fdl mn~ns”; ls fd;k x;k Fkk\ 

(t) nzks.k ij”kqjke ds ikl D;ksa x,\ mUgsa fujk”kk gkFk D;ksa feyh\ 

ys[kuys[kuys[kuys[ku    

10 vLoLFk gksus ds dkj.k nks fnu ds vodk”k gsrq izkpk;Z dks vkosnu i= fy[ksaA    [5] 

;k;k;k;k    
 vius iM+ksl esa gqbZ pksjh dh fjiksVZ djrs gq, Fkkuk v/;{k dks i= fy[ksaA 

11 fdlh ,d fo’k; ij vuqPNsn fy[ksaA          [6] 

 d  vuq”kklu dk egRd  vuq”kklu dk egRd  vuq”kklu dk egRd  vuq”kklu dk egRRRRRo o o o     

      ladsr fcUnq & 
  Hkwfedk 
  vuq”kklu dh vko”;drk  
  ykHk 
  milagkj  

    [k   lPpk fe=[k   lPpk fe=[k   lPpk fe=[k   lPpk fe=    
  ladsr fcUnq & 
  Hkwfedk  
  fe= dh vko”;drk 
  lPps fe= dh ij[k o pquko 
  lko/kkuh 
  milagkj 

    xxxx    O;k;ke ds ykHkO;k;ke ds ykHkO;k;ke ds ykHkO;k;ke ds ykHk    

  ladsr fcUnq & 
  Hkwfedk 
  O;k;ke dh vko”;drk 
  ykHk  
  izdkj  

milagkj 
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                d{kk& lkrd{kk& lkrd{kk& lkrd{kk& lkr                

                le;& le;& le;& le;& 1?kaVk ?kaVk ?kaVk ?kaVk 30 feuVfeuVfeuVfeuV         
 

1. v/kksfyf[kra i|ka”ka ifBRok iz”ukuke~ 
 
{keko”khd`fryksZds {ke;k fda u lk/;rsA
“kkfUr[kM~x% djs ;L; fda dfj’;fr nqtZu%AA
 
I. mfpra fodYia fpuqr

(d) *{ke;k* v= dk foHkfDr iz;qDrk
(v) izFkek     (c) 

([k) *nqtZu%* fda dfj’;fr

(v) fda     (c) 

(x) *dfj’;fr* v= d% ydkj% iz;qDr
(v) yV~    (c) 

(?k) *”kkfUr[kM~x%* v= fde~ fyaxe~ iz;qDre~
(v) iqfYyax      (c) 

 
II. ,dinsu mÙkjr &  

(d) yksds o”khd`fr dk
([k) {ke;k fda Hkofr\
 

III. ,dokD;su mÙkjr & 
(d) nqtZu% dL; fda u dfj’;fr

2 v/kksfyf[kra x|ka”ka ifBRok iz”ukuke~ mÙkjkf.k fy[kr & 

 dkYkØes.k jek;k% firk foiUu% latkr%A rL;k firjkS 
rnuUrja jek Lo T;s’kBHkzk=k l% in~H;ka lexza Hkkjre~ vHkzer~A 
laLd`roSnq’;s.k lk r= *if.Mrk* 
osnk/;;ue~ vdjksr~A i”pkr~ lk L=h.k

 

fnYyh ifCyd LdwyfnYyh ifCyd LdwyfnYyh ifCyd LdwyfnYyh ifCyd Ldwy    
    lsy Vkmuf”ki] lsy Vkmuf”ki] lsy Vkmuf”ki] lsy Vkmuf”ki] jk¡phjk¡phjk¡phjk¡ph     

                                            v/kZokf"kZd ijh{kk v/kZokf"kZd ijh{kk v/kZokf"kZd ijh{kk v/kZokf"kZd ijh{kk (2021-2022)    
                                                                                

                        

i|ka”ka ifBRok iz”ukuke~ mÙkjkf.k fy[kr & 

{keko”khd`fryksZds {ke;k fda u lk/;rsA 
x% djs ;L; fda dfj’;fr nqtZu%AA 

fodYia fpuqr &        

*{ke;k* v= dk foHkfDr iz;qDrk\ 
) f}rh;k      (l) r`rh;k     (n) prqFkhZ

*nqtZu%* fda dfj’;fr\* v= dr`Zin% d%\ 

) nqtZu%        (l) dfj’;fr       (n) u dks
*dfj’;fr* v= d% ydkj% iz;qDr\ 

) yksV~     (l) y³      (n) y`V
*”kkfUr[kM~x%* v= fde~ fyaxe~ iz;qDre~\ 

) L=hfyax    (l) uiqaldfyax (n) vU;fyax

       

yksds o”khd`fr dk\ 
\ 

       

nqtZu% dL; fda u dfj’;fr\ 

x|ka”ka ifBRok iz”ukuke~ mÙkjkf.k fy[kr &  

dkYkØes.k jek;k% firk foiUu% latkr%A rL;k firjkS T;s’Bk Hkfxuh p nqfHkZ{kihfMrk% fno³~rk%A
o T;s’kBHkzk=k l% in~H;ka lexza Hkkjre~ vHkzer~A Hkze.kØes lk 

;s.k lk r= *if.Mrk* ljLorh psfr mikf/kH;ka foHkwf’krkA r=So lk czg~e
lk L=h.kka d`rs osnknhuka “kkL=k.kka f”k{kk;S vkUnksyua izkjC/korhA
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                        fo"k;&laLd`rfo"k;&laLd`rfo"k;&laLd`rfo"k;&laLd`r    
            iw.kkZad&4iw.kkZad&4iw.kkZad&4iw.kkZad&40000    

 [½x4=2] 

prqFkhZ 

u dkssfi  

y`V 

vU;fyax 

 [½x2=1] 

 [1x1=1] 

T;s’Bk Hkfxuh p nqfHkZ{kihfMrk% fno³~rk%A 
.kØes lk dksydkrka izkIrkA 

rkA r=So lk czg~elektsu izHkkfork 
d`rs osnknhuka “kkL=k.kka f”k{kk;S vkUnksyua izkjC/korhA 



 

(d) mfpra fodYia fpuqr &          [½x4=2] 

(i) *jek lexza Hkkjre~ vHkzer~* v= fØ;kin% d%\ 

(v) Hkkjre~    (c) vHkzer~   (l) jek     (n) lexza 

(ii) *f”k{kk;S* v= dk foHkfDr iz;qDrk\ 

(v) f}rh;k    (c) r`rh;k     (l) prqFkhZ     (n) iapeh 

(iii) *lk Hkze.kØes dksydkrka izkIrk* v= loZukein% d%\ 

(v) lk    (c) dksydkrka   (l) Hkze.kØes   (n) izkIrk 

(iv) *vdjksr~* v= d% ydkj% iz;qDr%\ 

(v) yV~    (c) y`V~    (l) yksV~    (n) y³~ 

 ([k)  ,dinsu mÙkjr  &           [½x2=1] 

 (i) dL;k% firk foiUu% latkr%\ 

(ii) lk dklka d`rs vkUnksyua izkjC/korh\ 

(x)  ,dokD;su mÙkjr  &          [1x1=1] 

(i) laLd`roSnq’;s.k lk r= dkH;ka foHkwf’krk\ 

3 js[kkafdrinkfu vf/kd`R; iz”ufuekZ.ka dq:r  (iw.kZokD;su fy[kr)     [1x4=4] 

 (d) lR;su okfr ok;q%A 

 ([k) ln~fHk% ,o lgklhrA 

(x) olqU/kjk cgqjRuk HkofrA 

(?k) fo|k;k% laxzgs’kq R;DryTt% lq[kh Hkosr~A 

  4 eatw’kkr% vadkuka d`rs inkfu fpuqr&      [½x4=2] 

  [eatw’kk & f=a”kr~] prqfoZa”kfr%] lIrfoa”kfr%] pRokfja”kr~]  

  (d) 27 = -------------------- 

  ([k) 40 = -------------------- 
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(d) 30 = -------------------- 

(d) 24 = -------------------- 

5 v/kksfyf[krku~ le;okpdku~ vadku~ ins’kq fy[kr% &     [½x4=2] 

  (d) 9%00 = -------------------- 

(d) 7%30 = -------------------- 

(d) 2%30 = -------------------- 

(d) 5%00 = -------------------- 

6 v/kksfyf[krku~ inkuka fyaxa foHkfDra opua p fy[kr &     [1x3=3] 

  inkfu     fyaxe~    foHkfDr%    opue~ 

(d)    firk   --------------   --------------  ------------- 

([k)    ukjh.kke~ --------------   --------------  ------------- 

(x)    dU;k%  --------------   --------------  ------------- 

7 v/kksfyf[krkuka /kkrwuka ydkja iq:’ka opua p fy[kr &      [1x3=3] 

  inkfu     ydkj%    iq:’k%    opue~ 

(d)    dqoZfUr  --------------   --------------  ------------- 

([k)    vkxPNr~ --------------   --------------  ------------- 

(x)    xfe’;fr  --------------   --------------  ------------- 

8 v/kksfyf[krkfu okD;kfu ?kVukØekuqlkja fy[kr &       [½x6=3] 

 (d)    jekckbZ & egksn;k;k% fofiufcgkjhnklsu lg fookg% vHkor~A 

 ([k)    1858 res f[kz’VkCns jekckbZ tUe vyHkrA 

(x)    lk mPpf”k{kkFkZe~ baXYkS.Mns”ka xrorhA 

(?k)    1922 res f[kz’VkCns jekckbZ&egksn;k;k% fu/kue~ vHkor~A 

(³)    lk eqEcbZuxjs “kkjnk&lnue~ vLFkki;r~A 

(p)    lk Loekrq% laLd`rf”k{kka izkIrorhA 
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9 eatw’kkr% vO;;inkfu fpRok fjDrLFkkukfu iwj;r &       [½x6=3] 

 [eatw’kk & rFkk ] u ] dnkpu] lnk] p] vfi ]     

 (d)  HkDr% --------------- bZ”oja LejfrA 

([k)  vLkR;a ----------------oDRO;e~A 

(x)  fiz;a --------------lR;a onsr~A 

(?k)  yrk es/kk -------------- fo|ky;a xPNr%A 

(³)  --------------dq”kyh Hkoku~\ 

(p)  egkRekxkU/kh ----------- vfgalk u vR;tr~A 

10 eatw’kkr% fØ;kina fpRok okD;kfu iwj;r &       [½x6=3] 

 [eatw’kk & vfHkuUnfr] Hk{kf;’;ke%] bPNkfe] ofn’;kfe] mM~Mh;rs] izfrolfr Le]     

(d)  galkH;ka lg dweksZMfi -----------------A 

([k)  vga fdafpnfi u --------------------------A 

(x)  ;% fgrdkekuka lqânka okD;a u -----------A 

(?k)  ,d% dweZ% vfi r=So -----------------A 

(³)  vge~ vkdk”k~ekxsZ.k vU;= xUrqe~ --------------A 

(p)  o;a x`ga uhRok dweZa ----------------A 

11 eatw’kkr% inkfu fpRok okD;kfu iwj;r &        [½x4=2] 

 [eatw’kk & }kn”k] ‘kM~] }kS] v’Vkfoa”kfr%] 

 (d)  ---------------_ro% HkofUrA 

([k)  eklk% --------------- HkofUrA 

(x)  Qjojh ekls lkekU;r% --------------- fnukfu HkofUrA 

(?k)  ee “kjhjs --------------- gLrkS Lr%A 
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12 fjDrLFkkukfu iwj;r% &           [½x2=1] 

[eatw’kk & czw;kr~] lsosr ] 

(d)  Js’Btua deZ.kka --------------- 

([k)  lR;a fiz;a p ------------------ 

13 “kCn:ikf.k fy[kr &          [1x3=3] 

(d)  yrk & f}rh;k foHkfDr 

([k)  ifr & prqFkhZ foHkfDr 

(x)  ;q’en~ & ‘k’Bh foHkfDr 

 

14 /kkrq:ikf.k fy[kr &          [1x3=3] 

 (d)  n`”k~ & yksV~ ydkj mÙkeiq:’k 

 ([k)  xe~ & y`V~ ydkj izFke iq:’k 

 (x)  ik & fof/kfyax~ ydkj e/;e iq:’k 

 

 

*********************** 
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   DELHI PUBLIC SCHOOL  
  SAIL TOWNSHIP RANCHI  

               HALF YEARLY EXAMINATION (2021-22)  

    
Class-VII                                                      Subject: French  
Time: 1½ Hrs.                                            M.M: 40  

Section - A  

  

Reading (05)  

1.Lisez bien la lettre et répondez aux questions suivantes:  

LES VACANCES DES FRANÇAIS. 

Pour les Français en général, les vacances idéales passent en 

juillet et en aout, au bord de al mer (plage, soleil, sable chaud.. 

mais, beaucoup, jeunes ou vieux préfèrent la montagne 

maintenant parce qu'ils peuvent faire su ski en hiver et des 

randonnées en été. 

Le tourisme vert se développe et devient à la monde. Les 

Français vont à la campagne pour se reposer. Certains 

choisissent la ville pour visiter les musées ou voir des 

expositions. 

En général, le français passent leurs vacances en France mais 

certains vont aussi a l'étranger : en Europe, dans les pays du 

soleil comme la Grèce ou même dans des pays lointains par 

exemple, la Chine, le Mexique, l'Inde, l'Australie etc. seuls ou en 

voyages organisés. (Randonnées : Walks)  

 

1. Répondez :                    3M 

a) Nommez deux pays où les français vous pour les vacances? 

b) Où les français vont pour se reposer? 

c) Qu’est-ce qui se developpe et devient à la monde? 

2. Donnez le contraire:   1M 

a) Jeunes 

b) Viennent 



3. Completez avec des préposition:  1M 

a) La table est ______ bois. 

b) Nous allons un congé ________ un jour. 

 

Section B(05)  

1. . Décrivez votre journées en dix ligne.  

 

Section c( 20M) 

1.Completez avec adverbe de quantité( beacoupe/tant/trop/assez de/ un 

peu de/ moins/ plus de et combien de            2.5M  

a) Elle est grosse, elle mange____________  

b) Il est _______ forte ( strong) que mon frère.  

c) J’achete _________ fleur pour elle.  

d) Nous avons ___________ dans le panier.  

e) Le professeur dit, ____________ étudiants sont absent 

2. Complétez ces phrases en conjuguant savoir ou connaître au présent de 

l’indicatif.                                                                                                 [  2½ ] 

a. Est-ce que tu ________________le nouveau professeur ? 

b. Nous _______________________ la réponse. 

c. Ils __________________________ les conjugaisons. 

d. Les enfants ___________________ les chiens. 

e. Sylvie ________________________ les étudiants.  

3.Mettez au négatif:                                                    5M  

a) Je vais poser une question. 

b) Ils préfèrent les danses espagnoles.  

c)  Vous pratiquez un passe-temps.  

d)  Elle fait de la couture.  

e)  Elles sont des joueuses de golf.  

f)  Ils vont jouer au football.  

g)  C’est une acrobate.  

h) Nous faisons des parties de  



i)  Les fillettes jouent à la poupée.  

j)  Vous préférez le ping-pong.  

4.Conjuguez aux verbes :                                                   [2½] 

a) Je (se décider)  à partir. 
b) Comment tu (s’appeler) ? 
c) Il (se réjouir)  de la nouvelle. 
d) Nous (s’informer)  sur les possibilités. 
e) Vous (s’intéresser)  aux ordinateurs? 

 

5. Corriger les phrases incorrectes. ( position of adjectives)   [ 2½]                     

a) C'est une  ville grand. 

b) Il achète un scientifique livre. 

c) Tu vois le blanches ballon ? 

d) Mon chinoise ami est parti à Pékin. 

e) J'adore les églises médiévale.:                                                

6. Mettez les phrases a la forme interrogative:                                [5] 

a) L’appartment est dans un endroits.  (i) 

b) Ils mangent peu de pizza.  (ii) 

c) Ces filles sont mes cousines.(iii) 

d) Nous avons deux chats.(ii) 

e) Il ya des eleves dans ma classe. (iii) 

  

Section D(10)  

1.Répondez aux question                                         [5] 

1) Nommez deux pays voisin de la France au nord ?   

2) Quel fleuve traverse Paris ?   

3) Quel est l’hymne national de la France ?  

4) Les couleurs du drapeau français sont :   

5) Quelles est la date de la Fête Nationale de France ?   

 

2. Remplissez les blances:                                            2.5M  



1) On peut acheter  _________ et _________ a la patisserie.  

2) On peut acheter __________ et ________ a la boucherie.  

3) On peut acheter __________ et _________ a la marché.  

4) On peut acheter ___________ et _________ a la boulangerie  

5) On peut acheter __________ et __________ a la poissonnerie  

 

4.Quelle temps fait -t-il?                                                                       2.5M  

1) 4:20 pm  

2) 6: 10 am  

3) 11 pm  

4) 8 am  

5) 9:20 pm  

  

  

  

  

  



   DELHI PUBLIC SCHOOL 
  SAIL TOWNSHIP RANCHI 

  HALF YEARLY EXAMINATION (2021-22) 
  
Class-VII                                                                     Subject: German 
Time: 1 𝟏

𝟐ൗ  Hrs.                                                         M.M: 40 

1 
 

1. Schreiben Sie Sätze. 
a.  - Stefan - im Restaurant - essen - “möcht-“  
b. - nehmen - auch - du - Kotelett?  
c. - nehmen - Salat - lieber - ich  
d. - noch - etwas - “möcht-” - du?  
e. - Orangensaft - trinken - noch - ich  
f. - Karin - kein Fleisch - essen - bestellen - und - Salat 

.5x6=3 

2.  
Sylvia, 33, ist Sekretärin von Beruf. Sie arbeitet die ganze Woche von 
Montag bis Freitag. Am Vormittag und am Nachmittag arbeitet sie im 
Büro. Sie schreibt Briefe, telefoniert und plant den Arbeitstag. Mittags 
hat sie eine Stunde Pause. Sie isst in der Kantine, und manchmal geht sie 
ins Café und trifft dort Freunde. Um 16 Uhr hat sie Feierabend. Sie spielt 
eine Stunde Tennis, von 17 Uhr bis 18 Uhr. Etwa um halb sieben kauft 
sie ein und fährt dann mit dem Bus nach Hause. Am Abend geht sie 
manchmal ins Kino oder ins Theater. Oft ist sie auch alleine zu Hause. 
Dann liest sie, sieht fern oder ruft Freunde an. Am Wochenende hat sie 
viel Zeit. Sie trifft Freunde und Bekannte, sie geht schwimmen oder im 
Park spazieren, macht Picknick oder Ausflüge. Abends spielt sie Karten, 
kocht oder backt einen Kuchen. Am Sonntag schläft sie ganz lange. Da 
hat sie frei. 
 
A.  Richtig oder falsch? Kreuzen Sie an.  
a. Sylvia arbeitet auch am Wochenende.  
b. Am Sonntag kann sie lange schlafen.  
c. Sie trifft ihre Freunde in der Kantine.  
d. Sie geht am Sonntag spazieren. 
 
B. Was passt zusammen? Ergänzen Sie. 
a. Von Montag bis Freitag 
 

1. spielt sie Karten, kocht oder 
backt einen Kuchen.  

b. mittags 2. schläft sie ganz lange.  
c. Von 17 Uhr bis 18 Uhr  3. kauft sie ein. 
d. Um halb sieben  
 

4. isst sie in der Kantine, und 
manchmal geht sie ins Café. 

e. abends  5.arbeitet sie.  
f. Am Sonntag  6. spielt sie eine Stunde Tennis. 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
.5x4=2 
 
 
 
 
 
 
.5x6=3 
 
 
 
 
 
 
 
 
 



2 
 

C. Antwort die fragen: 
a. Wie alt ist Sylvia? 
b.  Von bis wann spielt sie Tennis? 
c. Was macht sie am Abend? 
d. Wo arbeitet sie? 
e. Wann schläft sie ganz lange? 

1x5=5 

3. Wie heißen die Wörter?  
a. TROB : b. MÜGESE : 
c. SÄKE : d. RTUWS : 
e. BOST : f. SCHLEIF : 
g. TRUBET: h. ETE : 
i. CHILM: j. AFFEEK : 

  

.5x10=5 

4.  Lesen Sie die offizielle Uhrzeit… Wie spät ist es? 
a. 17.10 Uhr  b. 23.50 Uhr c. 12.00 Uhr d. 6.06 Uhr 
e. 7.10 Uhr f. 3.04 Uhr g. 13.20 Uhr h. 20.30 Uhr 
i. 14.15 Uhr j. 4.45 Uhr k. 02.35 Uhr l. 00.40 Uhr 

  

.5x12=6 

5.  A. Ergänze: - Modal Verben (Wollen/ können) 
 
a. Klaus ________ schwimmen lernen. Also geht er ins Schwimmbad. 
b. Eva ________ gut Ski fahren. 
c. Ich ________ Deutsch und Englisch sprechen. 
d. Du ________ nicht Gitarre spielen? Nein, ich habe Keine Lust. 
 
B. Schreib die Konjugation: 
 essen trinken nehmen 
ich    
du    
er/sie/es    
wir    
ihr    
sie    

  

.5x4=2 
 
 
 
 
 
 
1x3=3 

6.  Stell Fragen:        

a. ________________________________________? 
Ja, ich habe viele Haustiere. 

b. ________________________________________? 
Ja, sie ist sehr lieb. 

c. ________________________________________? 
Nein, ich habe kein Hamster. 

d. ________________________________________? 

1x6=6 
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Sie heiβt Mautzi. 
e. ________________________________________? 

Nein, sie spricht Persisch. 
f. ________________________________________? 

Ich komme aus Indien. 
 

7. Lies das E-Mail und Schreib eine Antwort an Ben in ca. 40 Wörter   

 
 
Wie heiβt deine Schule? 
Wie ist dein Stundenplan? 
Wie heiβen deine Lieblingsfächer? Welche Fächer findest du langweilig?  
Hast du am Samstag frei? 
 

5 
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1. Contesta a las preguntas de comprensión abajo              4 

 

      ¿Qué tal Susi? ¡Qué curiosa eres! Vale, te cuento           

      cosas sobre mi amigo Miguel. Va a cumplir trece años           

      y es alto y delgado. Tiene el pelo castaño y los ojos      

      claros. Es alegre y divertido, a veces es un poco        

      cabezota pero no me importa porque me escucha        

      cuando tengo problemas, por eso es mi mejor amigo.  

      Lleva siempre camisetas y vaqueros y le encantan los  

      deportes. La informática le gusta mucho pero tengo           

      que ayudarle. Ahora te toca a ti contarme cosas. Besos,  

      Sol.  

a. ¿A quién le escribe Sol este correo electrónico?  

b. ¿Quién es el mejor amigo de Sol?  

c. ¿Por qué Miguel es el mejor amigo de Sol?  

d. ¿Qué lleva Miguel siempre y qué le encanta?  

 

      2.  Traducción de español en inglés :-                                     4 

a. Mi madre aún no ha terminado el trabajo.  

b. María perdió el bolso anteayer.   

c. Ellos fueron los ganadores del torneo ayer.  

d. Este portátil tan pequeño es suyo.      

 

      3.  Haz la frase con el verbo en pretérito perfecto :-              3 

a. Mi madre aún no …….. (terminar) su trabajo.  

b. ¿Qué ……. (hacer, tú) hoy?  

c. Yo …….(subrayar) los verbos del texto.  

d. Yo ….. (poder) completar todas las frases.  

e. ¿……. (dormir, tú) bien esta noche?  

f. Nosotros …… (ordenar) las palabras por el acento.  

 

 

                                                                          Pg – 1 of 3 



 

      4.  Convierte las palabras siguientes en diminutivos:-          2 

a. Pequeño  

b. Gordo  

c. Arbol  

d. Chico  

       

      5.  Haz las frases con el verbo en pretérito indefinido          3 

a. María ……. (perder) el bolso anteayer.  

b. Colón ……. (descubrir) América en 1492.  

c. El año pasado en Japón….(yo, conocer) a un gran  

jugador.  

d. Ayer …… (hacer, yo) un examen de español.   

e. Miguel y César …….(estar) ayer en casa de Paloma.  

f. Ayer vosotros …….(comprar) muchas cosas en el  

mercadillo.   

 

      6.   Completa las frases con el verbo de ser/ir en                 2  

              pretérito indefinido :-  

a. Ayer ……..(ir, nosotros) al cine.  

b. Ellos ……(ser) los ganadores del torneo de  cricket ayer. 

c. Yo ……. (Ir) a inglaterra hace mucho tiempo.  

d. Él ……. (Ser) profesor en aquel colegio hasta 2000.  

 

      7.  Usa para+infinitivo para completar la frase :-                  2 

a. Un lápiz se usa …….  

b. Un libro sirve …….  

c. El biberón es ……. la leche al bebé.  

d. La biblioteca sirve ……..  

 

      8.  Escribe las frases con adverbios de frecuencia :-          2 

a. Yo voy a la escuela …….. (almost always)  

b. Yo limpio las alfombras ……. (sometimes)  

c. Mi padre ……. (never) trabaja en la cocina.  

d. Pedro estudia ……. (everyday)  

 

      9.  Haz las frases con "tener" y "tener que"                        2 

a. Juan …….. dos libros de inglés.  

b. Yo …….. hacer los deberes pronto.  

c. María ……. más coches que su hermano.  

d. Nosotros …….. leer en español en voz alta.     
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     10.  Llena los huecos con "hay que"                                    2  

a. ……… (take out) aquella basura.  

b. ……… (read) los libros de ciencia.  

c. …………(learn) inglés. Es importante.  

d. ……… (eat) frutas porque es sano.   

  

     11.  Haz las frases con la ayuda de preposición +              2  

             pronombre :-  

a. Mi hermano fue ……(con+yo) al mercado ayer.  

b. Él ha traído estas flores para ……. (tú)  

c. Esos libros son para ……. (yo)  

d. Susana se sienta ……..(con+tú) en la biblioteca.  

 

     12.  Aplica pretérito indefinido de verbos irregulares         2  

a. Él ……. (venir) a mi casa.  

b. Nosotros …….. (estar) en el restaurante ayer.  

c. Yo ….. (tener) dos coches hace cinco años.  

d. Ayer ……. (hacer, yo) una prueba de español.  

 

     13.  Usa pronombre posesivo en frases siguientes            2  

            (Pronombre posesivo- tuyo, tuyas, mio, suyo)  

 

a. Este coche azul es …… (yo)  

b. Su libro es mejor que el …… (tú)  

c. Voy a dibujar con el lápiz ….. (él)  

d. Mi casa tiene cuatro habitaciones como las …. (tú)  

 

      14.  Haz frase con adjetivo posesivo :-                                1 

a. …..(yo) coche es azul.  

b. ……(tú) ordenador funciona más rápido.  

 

      15.  Haz frases con "acabar de + infinitivo"                        1 

             (terminar, empezar) 

a. El médico ………. (start) la operación.  

b. Vosotros …….. (finish) los deberes.  

 

      16.  Haz conjugación de los verbos abajos :-                     6 

a. Contestar (pretérito perfecto)  

b. Tener (Pretérito perfecto)  

c. Salir (pretérito perfecto)  

d. Regalar (pretérito indefinido) 

e. Conocer (pretérito indefinido)  

  

                                                           Pg – 3 of 3 
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Q1. Read the following questions and choose the correct answer from the given 
choices.                                                                                             (10 marks) 

 
 

1. How to write “Italy” in Japanese?  (1 mark) 
1) イタリア 
2) イタリー 
3) エタリア 
4) エタリ 

 
2. How to write “password” in Katakana?  (1 mark) 

1) パサワド 
2) パシクドー 
3) パスワード 
4) パスクド 

 
3. What is the potential form of “はなします”?  (1 mark) 

1) はなす 
2) はなすます 
3) はんします 
4) はなせます 

 
4. What is the plain form of “みました”?  (1 mark) 

1) みた 
2) みる 
3) みえます 
4) みません 

 
5. What is “to climb” in Japanese? (1 mark) 

1) くる 
2) のる 
3) のむ 
4) のぼる 

 
6. What is “place” in Japanese? (1 mark) 

1) うち 
2) にわ 
3) ばし 
4) ばしょ 
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7. What is “I have not eaten yet.” in Japanese?  (1 mark) 
1) わたしは また たべません。 
2) わたしは まだ たべていません。 
3) わたしは もう たべません。 
4) わたしも たべません。 

 
8. What is “I have already seen this movie.” in Japanese? (1 mark) 

1) わたしは もう この えいが を みました。 
2) わたしは もう この えいが を みません。 
3) わたしは また この えいが を みました。 
4) わたしは まだ この えいが を みません。 

 
9. What is the meaning of “おみやげ” in English? (1 mark) 

1) heavy 
2) memory 
3) luggage 
4) souvenir 

 
10. What is the meaning of “もも” in English? (1 mark) 

1) cherry 
2) peach 
3) strawberry 
4) apple 

 
  

Q2. Fill in the blanks with appropriate particles from the given options.  (5 marks) 
  
                                                   Options: 

 
                           は が に で を へ の も と 

  
1. ブラッドさん、おはようございます。どこ______いく______ですか。 

2. たけしくん______でんわばんごう______しっていますか。 

3. すみません、この とけい______いくら ですか。 

4. これ______マナミさん______かさ ですね。 

5. さかな______にく______ミルク______かいに いきました。 



      DELHI PUBLIC SCHOOL 
  SAIL TOWNSHIP RANCHI 

                    HALF YEARLY EXAMINATION (2021-22) 
  

Class- VII                                                                    Subject: Japanese 
Time: 1:30 Hrs.                                                                M.M: 40 

 
 

   Class VII H 
 3  

6. バス______ゆうびんきょく______いきますか。 

7. いいえ、わたし______でんしゃ______ゆうびんきょく______いきま

す。 

8. やまださん______すし______すき です。さしみ______すき です。 

9. せんげつ ヘレンさん______いっしょに イタリア______ いきまし

た。 

10. この あかい はな______きれい ですね。これ______ごほん くださ

い。 
 

 
Q3. Write the following words in Katakana.  (3 marks) 
 

1. owl 

2. cup 

3. Belgium 

4. gorilla 

5. chicken 

6. hanger 

 
Q4. Translate the following sentences into Japanese (Use Hiragana and 

Katakana). (5 marks) 
 
1. I want to be a scientist. 

2. My father is an American. 

3. This TV is 30,000 yen. 
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4. Whose pencil is this? 

5. I want to play soccer. 

 
Q5. Match the following adjectives with their meaning. (2 marks) 
 

1. きれい 

2. あたらしい 

3. きいろい 

4. みじかい 

5. あたたかい 

6. さむい 

 
Meaning: 
 
a. cold b. warm c. yellow  
d. pretty, clean e. new f. short 

  
 

 
Q6. Answer the following questions in Hiragana and Katakana by using the given 

hints in each (Bracket). 
  (5 marks) 

 
1. あなたの がっこうの なまえは なん ですか。 (DPS) 

2. いま なんじ ですか。         (12:45 A.M.) 

3. あなたは なんにん きょうだい ですか。         (4) 

4. この ボールペンは いくら ですか。         (2,550 yen) 

5. あの ほんやは なんじ に しまりますか。         (8:30 P.M.) 
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Q7. Write an essay in Hiragana and Katakana on “Your favourite country”. Your 

essay must have a minimum of 8 sentences with the following words. You don’t 
need to use all of the verbs. 
 
Words: 
 
いく たべる のむ みる しゃしん をとる かう きく くる およぐ 

する 
 
 
OR 
 
 
Write an essay in Hiragana and Katakana on “Your self-introduction”. Your 
essay must have a minimum of 8 sentences with the following words. You don’t 
need to use all the words. 
 
Words: 
 
かぞく ともだち がっこう たべもの のみもの くに はは ちち し

ょうらい 
 
 
 (5 marks) 
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Q8. Read the following paragraph. Then answer the following questions in 

Hiragana and Katakana.  
  (5 marks) 

 
リターさんは とうきょう インターナショナル スクールの がくせい 

です。 おとうさんの しごとで ごねん まえに にほんに きました。 お

かあさんは インドでは かんごし でしたが、 にほんでは しごと を 

する ことが できません。 おかあさんは くにへ かえって じぶんのしご

と を したいとおもっています。 それで らいしゅう、おかあさんは ひ

とりで さきに くにへ かえる ことに しました。 

 
 

1. リターさんの がっこうの なまえは なんですか。 

2. リターさんは なんねん まえに にほんに きましたか。 

3. おかあさんの しごとは なん でしたか。 

4. おかあさんは いつ くにへ かえりますか。 
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Answer 
 
Q1 

1. 1) 
2. 3) 
3. 4) 
4. 1) 
5. 4) 
6. 4) 
7. 2) 
8. 1) 
9. 4) 
10. 2) 
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